

ABC Bid Data

DISTRICT 3 16163L NON-FEDERAL

PROJECT: DISTRICT 3

STATE PROJECT NUMBER: 16163L

FED. PROJECT NUMBER: NON-FEDERAL

DATE BIDS OPEN:

March 07, 2023, 2:00

SCOPE OF WORK:

Resurfacing various tier 2, 3, and 4 roadways in District 3.

COMPLETION DATE:

September 29, 2023

LOCATION: Carroll, District 1, Merrimack, District 3, Belknap

Awarded To: PIKE INDUSTRIES, INC.

3 EASTGATE PARK ROAD BELMONT, NH 03220

Amount: Award Date: \$6,285,907.58

Certified by: WILLIAM.J.OLDENBURG

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
PIKE INDUSTRIES, INC.	\$6,285,907.58	Α
3 EASTGATE PARK ROAD, BELMONT NH 03220		
CONTINENTAL PAVING INC	\$6,630,587.26	В
1 CONTINENTAL DRIVE, LONDONDERRY NH 03053		

ABC Bid Data



DISTRICT 3 16163L NON-FEDERAL

					F	PS&E	3 EASTGAT	JSTRIES, INC. TE PARK ROAD IT, NH 03220	1 CONTINI	AL PAVING INC ENTAL DRIVE RRY, NH 03053
It	em No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

206.1	COMMON STRUCTURE EXCAVATION	CY	24.40	\$300.00	\$7,320.00	\$100.00	\$2,440.00	\$100.00	\$2,440.00
304.301	CRUSHED GRAVEL	CY	22.10	\$205.00	\$4,530.50	\$100.00	\$2,210.00	\$150.00	\$3,315.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	7,275.00	\$25.00	\$181,875.00	\$25.00	\$181,875.00	\$28.00	\$203,700.00
403.11942	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH, QC/QA TIER 2	TON	263.00	\$91.53	\$24,072.39	\$87.00	\$22,881.00	\$100.00	\$26,300.00
403.11943	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH	TON	6,194.00	\$86.00	\$532,684.00	\$87.00	\$538,878.00	\$100.00	\$619,400.00
403.12	HBP-HAND METHOD	TON	355.10	\$275.00	\$97,652.50	\$225.00	\$79,897.50	\$165.00	\$58,591.50
403.16	PAVEMENT JOINT ADHESIVE	LF	44,835.00	\$0.30	\$13,450.50	\$0.25	\$11,208.75	\$0.25	\$11,208.75
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	38,041.40	\$4.10	\$155,969.74	\$3.00	\$114,124.20	\$4.75	\$180,696.65
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	39,542.20	\$75.00	\$2,965,665.00	\$85.00	\$3,361,087.00	\$88.68	\$3,506,602.30
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	6,000.00	\$79.97	\$479,820.00	\$85.00	\$510,000.00	\$94.00	\$564,000.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	55,098.50	\$2.45	\$134,991.33	\$2.50	\$137,746.25	\$2.50	\$137,746.25
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	5,756.00	\$2.45	\$14,102.20	\$1.00	\$5,756.00	\$2.50	\$14,390.00
417.412	RUMBLE STRIPS, 12" WIDE	LF	546.00	\$0.50	\$273.00	\$20.00	\$10,920.00	\$3.45	\$1,883.70
417.53	REMOVE AND INLAY EXISTING RUMBLE STRIPS	LF	546.00	\$6.48	\$3,538.08	\$8.00	\$4,368.00	\$10.00	\$5,460.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	100.00	\$120.00	\$12,000.00	\$121.00	\$12,100.00	\$196.00	\$19,600.00
604.0007	POLYETHYLENE LINER	EA	46.00	\$145.00	\$6,670.00	\$150.00	\$6,900.00	\$140.00	\$6,440.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	37.00	\$490.00	\$18,130.00	\$500.00	\$18,500.00	\$480.00	\$17,760.00
604.72	GRATES & FRAMES, TYPE B	EA	8.00	\$647.44	\$5,179.52	\$400.00	\$3,200.00	\$800.00	\$6,400.00
604.7838	GRATES & FRAMES SPECIAL ADA COMPLIANT (DEPARTMENT SUPPLIED)	EA	1.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$500.00	\$500.00
608.2401	4" CONCRETE SIDEWALK	SY	111.50	\$90.00	\$10,035.00	\$100.00	\$11,150.00	\$75.00	\$8,362.50
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	21.80	\$469.74	\$10,240.33	\$450.00	\$9,810.00	\$450.00	\$9,810.00
609.5	RESET GRANITE CURB	LF	507.00	\$52.00	\$26,364.00	\$50.00	\$25,350.00	\$50.00	\$25,350.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	13.00	\$1,200.00	\$15,600.00	\$1,440.00	\$18,720.00	\$2,000.00	\$26,000.00

ABC Bid Data



					PS&E	3 EASTGA	USTRIES, INC. TE PARK ROAD NT, NH 03220	1 CONTIN	TAL PAVING INC VENTAL DRIVE ERRY, NH 03053
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
616.9501	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$1,750.00	\$1,750.00	\$8,280.00	\$8,280.00	\$8,750.00	\$8,750.00
616.9502	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$1,750.00	\$1,750.00	\$5,520.00	\$5,520.00	\$6,350.00	\$6,350.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	61,900.00	\$1.00	\$61,900.00	\$1.00	\$61,900.00	\$1.00	\$61,900.00
618.7	FLAGGERS	HR	3,580.00	\$45.00	\$161,100.00	\$58.00	\$207,640.00	\$57.00	\$204,060.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$125,000.00	\$125,000.00	\$130,000.00	\$130,000.00	\$100,000.00	\$100,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$2,800.00	\$5,600.00	\$3,200.00	\$6,400.00	\$1,000.00	\$2,000.00
628.1	SAWED CONCRETE PAVEMENT	LF	8.40	\$35.67	\$299.63	\$10.00	\$84.00	\$10.00	\$84.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	337.30	\$5.90	\$1,990.07	\$10.00	\$3,373.00	\$10.00	\$3,373.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	2,712,566.00	\$0.15	\$406,884.90	\$0.13	\$352,633.58	\$0.16	\$434,010.56
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	5,397.00	\$1.50	\$8,095.50	\$2.00	\$10,794.00	\$3.00	\$16,191.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	566.00	\$6.15	\$3,480.90	\$4.00	\$2,264.00	\$8.00	\$4,528.00
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	4,593.00	\$1.92	\$8,818.56	\$1.85	\$8,497.05	\$2.15	\$9,874.95
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	1,314.00	\$2.03	\$2,667.42	\$3.00	\$3,942.00	\$3.45	\$4,533.30
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	525.00	\$3.80	\$1,995.00	\$3.25	\$1,706.25	\$3.75	\$1,968.75
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	145.00	\$4.06	\$588.70	\$4.00	\$580.00	\$4.60	\$667.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18"	LF	566.00	\$6.33	\$3,582.78	\$5.00	\$2,830.00	\$5.75	\$3,254.50
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	1,426.00	\$10.08	\$14,374.08	\$8.00	\$11,408.00	\$9.20	\$13,119.20
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	1,013.00	\$1.30	\$1,316.90	\$3.00	\$3,039.00	\$1.15	\$1,164.95
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	46.00	\$2.44	\$112.24	\$10.00	\$460.00	\$1.15	\$52.90
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	190.00	\$4.47	\$849.30	\$5.00	\$950.00	\$1.15	\$218.50
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	18.20	\$41.36	\$752.75	\$125.00	\$2,275.00	\$100.00	\$1,820.00
692.	MOBILIZATION	U	1.00	\$225,000.00	\$225,000.00	\$175,000.00	\$175,000.00	\$100,000.00	\$100,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	10,500.00	\$1.00	\$10,500.00	\$1.00	\$10,500.00	\$1.00	\$10,500.00

New Hampshire Department of Transportation

ABC Bid Data

				PS&E		PS&E PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220		3 EASTGATE PARK ROAD 1 CONTINENTAL DRIVE		IENTAL DRIVE
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
1010.15	FUEL ADJUSTMENT	\$	70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00	
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	1,210.00	\$1.00	\$1,210.00	\$1.00	\$1,210.00	\$1.00	\$1,210.00	
Totals:				\$5,955,781.82		\$6,285,907.58		\$6,630,587.26		
	Alt. Totals:									
Totals:					\$5,955,781.82		\$6,285,907.58		\$6,630,587.26	



PS&E Comparison

		•		A-Bidder		PS	\$Е	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
206.1	COMMON STRUCTURE EXCAVATION	CY	24.40	\$100.00	\$2,440.00	\$300.00	\$7,320.00	(\$4,880.00)
304.301	CRUSHED GRAVEL	CY	22.10	\$100.00	\$2,210.00	\$205.00	\$4,530.50	(\$2,320.50)
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	7,275.00	\$25.00	\$181,875.00	\$25.00	\$181,875.00	\$0.00
403.11942	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH, QC/QA TIER 2	TON	263.00	\$87.00	\$22,881.00	\$91.53	\$24,072.39	(\$1,191.39)
403.11943	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH	TON	6,194.00	\$87.00	\$538,878.00	\$86.00	\$532,684.00	\$6,194.00
403.12	HBP-HAND METHOD	TON	355.10	\$225.00	\$79,897.50	\$275.00	\$97,652.50	(\$17,755.00)
403.16	PAVEMENT JOINT ADHESIVE	LF	44,835.00	\$0.25	\$11,208.75	\$0.30	\$13,450.50	(\$2,241.75)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	38,041.40	\$3.00	\$114,124.20	\$4.10	\$155,969.74	(\$41,845.54)
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	39,542.20	\$85.00	\$3,361,087.00	\$75.00	\$2,965,665.00	\$395,422.00
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	6,000.00	\$85.00	\$510,000.00	\$79.97	\$479,820.00	\$30,180.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	55,098.50	\$2.50	\$137,746.25	\$2.45	\$134,991.33	\$2,754.92
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	5,756.00	\$1.00	\$5,756.00	\$2.45	\$14,102.20	(\$8,346.20)
417.412	RUMBLE STRIPS, 12" WIDE	LF	546.00	\$20.00	\$10,920.00	\$0.50	\$273.00	\$10,647.00



PS&E Comparison

		1	_	A-Bid	der	PS8	kE .	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
417.53	REMOVE AND INLAY EXISTING RUMBLE STRIPS	LF	546.00	\$8.00	\$4,368.00	\$6.48	\$3,538.08	\$829.92
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	100.00	\$121.00	\$12,100.00	\$120.00	\$12,000.00	\$100.00
604.0007	POLYETHYLENE LINER	EA	46.00	\$150.00	\$6,900.00	\$145.00	\$6,670.00	\$230.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	37.00	\$500.00	\$18,500.00	\$490.00	\$18,130.00	\$370.00
604.72	GRATES & FRAMES, TYPE B	EA	8.00	\$400.00	\$3,200.00	\$647.44	\$5,179.52	(\$1,979.52)
604.7838	GRATES & FRAMES SPECIAL ADA COMPLIANT (DEPARTMENT SUPPLIED)	EA	1.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	(\$500.00)
608.2401	4" CONCRETE SIDEWALK	SY	111.50	\$100.00	\$11,150.00	\$90.00	\$10,035.00	\$1,115.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	21.80	\$450.00	\$9,810.00	\$469.74	\$10,240.33	(\$430.33)
609.5	RESET GRANITE CURB	LF	507.00	\$50.00	\$25,350.00	\$52.00	\$26,364.00	(\$1,014.00)
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	13.00	\$1,440.00	\$18,720.00	\$1,200.00	\$15,600.00	\$3,120.00
616.9501	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$8,280.00	\$8,280.00	\$1,750.00	\$1,750.00	\$6,530.00
616.9502	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$5,520.00	\$5,520.00	\$1,750.00	\$1,750.00	\$3,770.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	61,900.00	\$1.00	\$61,900.00	\$1.00	\$61,900.00	\$0.00
618.7	FLAGGERS	HR	3,580.00	\$58.00	\$207,640.00	\$45.00	\$161,100.00	\$46,540.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$130,000.00	\$130,000.00	\$125,000.00	\$125,000.00	\$5,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$3,200.00	\$6,400.00	\$2,800.00	\$5,600.00	\$800.00
628.1	SAWED CONCRETE PAVEMENT	LF	8.40	\$10.00	\$84.00	\$35.67	\$299.63	(\$215.63)



Department of Transportation

PS&E Comparison

DISTRICT 3 16163L NON-FEDERAL

	Description	,		A-Bide	der	PS8	RE	
Item No.		Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
628.2	SAWED BITUMINOUS PAVEMENT	LF	337.30	\$10.00	\$3,373.00	\$5.90	\$1,990.07	\$1,382.93
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	2,712,566.00	\$0.13	\$352,633.58	\$0.15	\$406,884.90	(\$54,251.32)
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	5,397.00	\$2.00	\$10,794.00	\$1.50	\$8,095.50	\$2,698.50
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	566.00	\$4.00	\$2,264.00	\$6.15	\$3,480.90	(\$1,216.90)
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	4,593.00	\$1.85	\$8,497.05	\$1.92	\$8,818.56	(\$321.51)
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	1,314.00	\$3.00	\$3,942.00	\$2.03	\$2,667.42	\$1,274.58
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	525.00	\$3.25	\$1,706.25	\$3.80	\$1,995.00	(\$288.75)
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	145.00	\$4.00	\$580.00	\$4.06	\$588.70	(\$8.70)
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	566.00	\$5.00	\$2,830.00	\$6.33	\$3,582.78	(\$752.78)
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	1,426.00	\$8.00	\$11,408.00	\$10.08	\$14,374.08	(\$2,966.08)
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	1,013.00	\$3.00	\$3,039.00	\$1.30	\$1,316.90	\$1,722.10
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	46.00	\$10.00	\$460.00	\$2.44	\$112.24	\$347.76
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	190.00	\$5.00	\$950.00	\$4.47	\$849.30	\$100.70
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	18.20	\$125.00	\$2,275.00	\$41.36	\$752.75	\$1,522.25

Wednesday, March 8, 2023 Page 7 of 8



PS&E Comparison

DISTRICT 3 16163L NON-FEDERAL

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
692.	MOBILIZATION	U	1.00	\$175,000.00	\$175,000.00	\$225,000.00	\$225,000.00	(\$50,000.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	10,500.00	\$1.00	\$10,500.00	\$1.00	\$10,500.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	70,000.00	\$1.00	\$70,000.00	\$1.00	\$70,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	1,210.00	\$1.00	\$1,210.00	\$1.00	\$1,210.00	\$0.00

Total: \$6,285,907.58 \$5,955,781.82 \$330,125.76

Wednesday, March 8, 2023 Page 8 of 8